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Round each number to the nearest hundred.

1) 9,551 qGOO 6)

2) s379 _HY400 7
3) 1425 _\400 8) % l0000
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9. Multiply: 2.300 x 0.0440and then write the answer to the correct number of sxgmf cant igures. T’:e rules
for this are in Friday’s notes or at genest.weebly.com.

0. 10172 zjf:** 0.101
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10. Divide: 5379/ and then write the answer to the correct number of significant figures. The rules for this
are in Friday’s %‘or at genest.weebly.com.

OofS ! TYPo

’

. What is the correct reading of each meniscus?

Reading the Menistus
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The graph below is for an experiment where animal napgg meas fter the organism consumed a

light meat. Assuming that 0, 0 is one of the points on this graph, make a best fit line that includes 0,0.
alculate the slope of the line. Include unjts. [Hint: the units will basomething / something ]

ges/and the graph, predict
ST O minutes the animal would
ef If it consumed 50. cajories.
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10. With a calculator and the equation below predict the number of minutes the animal would |f it
consumed 140 calories (remem! use yo UI‘ ovxsu a9 LO\]'(
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Length of nap [minutes]
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11.With a calculator and the equati , estimate the ampunt of food the anim atg\H slept 188
minutes. g o ..
[ 1 P
188 minutes calories _ (A5.@ 7 Qw ¢ a)o rey

1 x NQ mmutes

12. With a calculator and the equation below, predict the number of minutes the animal would sleep if it

consumed 140 calories (remember sig figs).
140 calories X / 4o N\\M*('S l %O r'\\mﬂ'es

50 calenies
The graph below describes three diffdent substances.

P v 17. Calculate the slope of Substance A. Include
4 1/‘ units
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E P LA 18. Calculate the sloj of Substance B. Include
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Using math similar to what you did in #14 - #16, calculate the followmg

19.What would be the ma : of A? (Regmember sig figs; round your
answer!) ; i | : ;
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20.What would be the volume of 224 grams of B? (Remember sig figs; round your

answer!) 221-{ sm x s 25 M\_
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1. Divide: 5379/ 2.7 and then write the answer to the correct number of significant figures. The rules for
this are in Friday’s notes or at genest.weebly .com.

L

In another experiment, a researcher measured how long n candle burned compared with the ns-af wix
inthe candle. She determined that for every 2.4 grams of wax the candle burned an additiond] 16,3 >
minutes, With a caleulator and the equation below, predict the number of minutes the candle w?mld burn if
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3. With a enleulator mld the equation beloly, stimate the amount of geams the candle should weigh il you
wish it to burn for 188 minutes,

188 mmutes' Lj' Lgrams 27 63'0 zssrow\;

1 * 1% 'EmmuCes
4. With a caleulator and the equation below, predict the number of minut ‘a‘b %\cllqwou burn if "

contained 363.2 grams of wax (remember sig figs). 3‘g‘23""‘x - 2 % 7
towa vounds 1o

2500m Mo%‘

5. Convert 70.1 Mg to grams:

this part below here is from notes a few days ago. |I’'m just sticking it here because people seemed to
need to see it again. Remember to always write all the digits that are from the black lines. AND THEN,
ESTIMATE ONE MORE DIGIT AND WRIT4E THAT. Many people missed this on the RR track homework.
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What is the curve called?



